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1. pwuk (CaCO3) dk iz;ksx 
---------------------- 

dks lq/kkjus 

esa gksrk gSA 

 
1. CaCO3 (lime) is added to reclaim 

................ . 

(A) {kkjh; e`nk  (A) Alkali soil 

(B) yo.kh; e`nk  (B)  Saline soil 

(C) ysVjkbV e`nk  (C)  Laterite soil 

(D) vEyh; e`nk  (D)  Acidic soil 

2. loZekU; e`nk gkfu lehdj.k iznf’kZr gksrk  

gS % 

 
2. The universal soil loss equation (USLE) 

is expressed by : 

(A) A = R × K × L × S × C × P  (A) A = R × K × L × S × C × P 

(B)  A = R × K × R × S × C × P  (B)  A = R × K × R × S × C × P 

(C)  A = R × K × L × M × C × P  (C)  A = R × K × L × M × C × P 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

3. loZekU; e`nk gkfu lehdj.k dks fodflr 

fd;k Fkk % 

 
3. The universal soil loss equation (USLE) 

was developed by :  

(A) oh- oh- Mksdqpso us  (A) V. V. Dokuchaev 

(B) ts- FkkWel us  (B)  J. Thomas 

(C) fo’kek;j ,oa fLeFk us  (C)  Wischmeier and Smith 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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4. fuEufyf[kr esa ls dkSu ok;q vijnu dk izdkj 

ugha gS \ 

 
4. Which of the following is not a type of 

wind erosion ? 

(A) mRifjorZu ;k mPNyu  (A) Saltation 

(B) fu{ksi.k  (B)  Illuviation 

(C) fuyEcu  (C)  Suspension 

(D) i`”B&liZ.k  (D)  Surface-creep 

5. fuEufyf[kr esa ls fdlesa ok;q vijnu vf/kd 

gksrk gS \ 

 
5. In which of the following is more wind 

erosion ? 

(A) mRifjorZu ;k mPNyu  (A) Saltation 

(B) fuyEcu  (B)  Suspension 

(C) i`”B&liZ.k  (C)  Surface-creep 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

6. i`”B&liZ.k izfØ;k esa d.k dk vkdkj gksrk  

gS % 

 
6. Particle size of surface-creep process  

is : 

(A) > 0.5 mm  (A) > 0.5 mm 

(B)  < 0.5 mm  (B)  < 0.5 mm 

(C)  < 0.2 mm  (C)  < 0.2 mm 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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7. fuEufyf[kr esa ls dkSu ty vijnu dk ,d 

izdkj gS \ 

 
7. Which of the following is a type of water 

erosion ? 

(A) fuyEcu  (A) Suspension 

(B) fu{kkyu  (B)  Eluviation 

(C) ijr vijnu  (C)  Sheet erosion 

(D) yo.khdj.k  (D)  Salinization 

8. vif’k”V lksfM;e dkcksZusV (RSC) dh x.kuk 

dh tkrh gS % 

 
8. Residual sodium carbonate (RSC) is 

calculated as : 

(A) (Ca Mg )  2
3 3(CO HCO )   (A) (Ca Mg ) 2

3 3(CO HCO )  

(B) 2
3 3(CO HCO ) (Ca Mg )    (B) 2

3 3(CO HCO ) (Ca Mg )   

(C) (Ca Mg )  2
3 3(CO HCO )   (C) (Ca Mg )  2

3 3(CO HCO )  

(D) 2
3 3(CO HCO ) (Ca Mg )    (D) 2

3 3(CO HCO )
 
(Ca Mg )   

9. yo.kh;&{kkjh; e`nk dh fo’ks”krk gS % 
 

9. Characteristic of saline-alkaline soil is : 

(A) EC > 4 dS m
–1

, pH > 8.5, ESP < 15  (A) EC > 4 dS m
–1

, pH > 8.5, ESP < 15 

(B)  EC > 4 dS m
–1

, pH < 8.5, ESP > 15  (B)  EC > 4 dS m
–1

, pH < 8.5, ESP > 15 

(C)  EC > 4 dS m
–1

, pH > 8.5, ESP > 15  (C)  EC > 4 dS m
–1

, pH > 8.5, ESP > 15 

(D)  EC > 4 dS m
–1

, pH < 8.5, ESP < 15  (D)  EC > 4 dS m
–1

, pH < 8.5, ESP < 15 

10. ftIle dh vko’;drk (G. R.) lEcfU/kr gS % 
 

10. Gypsum requirement (G. R.) is related to : 

(A) yo.kh; e`nkvksa ls  (A) Saline soils 

(B) vEyh; lYQsV e`nkvksa ls  (B)  Acidic sulphate soils 

(C) ‘kq”d e`nkvksa ls  (C)  Arid soils 

(D) {kkjh; e`nkvksa ls  (D)  Alkaline soils 
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11. vif’k”V lksfM;e dkcksZusV ds vk/kkj ij fdl 

xq.koŸkk dk flapkbZ ty ikS/kksa ds fy, lqjf{kr 

gS \ 

 
11. On the basis of residual sodium carbonate 

(RSC) which quality of irrigation water is 

safe for plants ? 

(A) < 1.25  (A) < 1.25 

(B)  1.25 – 2.5  (B)  1.25 – 2.5 

(C)  > 2.5  (C)  > 2.5 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

12. e`nk mi;ksfxrk oxhZdj.k ds vuqlkj d`f”k ds 

fy, mi;ksxh oxZ ugha gS % 

 
12. In land capability classification class not 

used in agriculture is : 

(A) I–IV  (A) I–IV 

(B)  V–VII  (B)  V–VII 

(C)  I–VIII  (C)  I–VIII 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

13. fuEufyf[kr esa ls dkSu ty vijnu dk izdkj 

ugha gS \ 

 
13. Which of the following is not a type of 

water erosion ? 

(A) mPNy vijnu  (A) Splash erosion 

(B) fjy vijnu  (B)  Rill erosion 

(C) ijr vijnu  (C)  Sheet erosion 

(D) i`”B&liZ.k vijnu  (D)  Surface-creep erosion 



Ag-704 ( 7 )  Set-B 

14. <yku okyh Hkwfe ls e`nk ds ,dleku ijr dk 

{kj.k gksuk dgykrk gS % 

 
14. The uniform removal of soil layers from 

the sloping glands is known as : 

(A) fjy vijnu  (A) Rill erosion 

(B) mPNy vijnu  (B)  Splash erosion 

(C) ijr vijnu  (C)  Sheet erosion 

(D) fLyi vijnu  (D)  Slip erosion 

15. m¡xyh leku lajpuk fdl ty vijnu esa 

curh gS \ 

 
15. Which water erosion forms finger like 

structure ? 

(A) fjy vijnu  (A) Rill erosion 

(B) mPNy vijnu  (B)  Splash erosion 

(C) ijr vijnu  (C)  Sheet erosion 

(D) fLyi vijnu  (D)  Slip erosion 

16. e`nk dh tyeXurk ls gksrk gS % 
 

16. Waterlogging for soil is : 

(A) NH 4  dk lap;u  (A) Accumulation of NH 4   

(B) NO 3  dk lap;u  (B)  Accumulation of 3NO   

(C) ukbVªhdj.k  (C)  Nitrification 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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17. fuEufyf[kr esa ls tykØkUr e`nkvksa dks lq/kkjus 

dk mik; gS % 

 
17. Which of the following methods is  

used for reclamation of waterlogged  

soil ? 

(A) pwuk feykdj  (A) Add lime 

(B) ik;jkbV~l feykdj  (B)  Add pyrites 

(C) mfpr ty fudkl  (C)  Well water drainage 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

18. fuEufyf[kr esa ls dkSu&lk o`{k ¼isM+½ tykØkUr 

n’kk ds fy, mi;qDr gS \ 

 
18. Which of the following trees is most 

suitable for waterlogged condition ? 

(A) uhe  (A) Neem 

(B) vke  (B)  Mango 

(C) ccwy  (C)  Babul 

(D) ;wdsfyIVl  (D)  Eucalyptus 

19. tyeXurk ds dkj.k ls D;k gksrk gS \ 
 

19. What is done by waterlogged ? 

(A) vEyh; e`nk dk ih-,p- de gksrk gSA  (A) Decreases pH of acidic soil. 

(B) vEyh; e`nk dk ih&,p- c<+rk gSA  (B)  Increases pH of acidic soil. 

(C) {kkjh; e`nk dk ih&,p- c<+rk gSA  (C)  Increases pH of alkaline soil. 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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20. fuEufyf[kr esa ls dkSu&lh mPp yo.k izfrjks/kh 

Qly ugha gS \ 

 
20. Which of the following is not highly salt 

resistant crop ? 

(A) ljlksa  (A) Mustard 

(B) tkS  (B)  Barley 

(C) pqdUnj  (C)  Sugarbeet 

(D) dikl  (D)  Cotton 

21. ftIle vkSj vk;ju ik;jkbV~l dk iz;ksx 

-------------------------
 dks lq/kkjus esa gksrk gSA 

 
21. Gypsum and iron pyrites are used for 

reclamation of ................. . 

(A) yo.kh; e`nk  (A) Saline soil 

(B) {kkjh; e`nk  (B)  Alkaline soil 

(C) pwuk;qDr e`nk  (C)  Calcareous soil 

(D) vEyh; e`nk  (D)  Acidic soil 

22. Hkkjr esa vEyh; e`nk dk {ks=Qy gS % 
 

22. Area of acidic soil in India is : 

(A) 140 Mha  (A) 140 Mha 

(B)  26 Mha  (B)  26 Mha 

(C)  90 Mha  (C)  90 Mha 

(D)  6.74 Mha  (D)  6.74 Mha 

23. fu{kkyu vko’;drk (LR) lEcfU/kr gS % 
 

23. Leaching requirement (LR) is related to : 

(A) yo.kh; e`nk ls  (A) Saline soil 

(B) {kkjh; e`nk ls  (B)  Sodic soil 

(C) vEyh; lYQsV e`nk ls  (C)  Acid sulphate soil 

(D) tykØkUr e`nk ls  (D)  Waterlogged soil 
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24. e`nk iznw”k.k dk lcls egRoiw.kZ dkj.k gS % 
 

24. Main important cause of soil  

pollution is : 

(A) dk¡p  (A) Glass 

(B) IykfLVd  (B)  Plastics 

(C) viektZd  (C)  Detergents 

(D) dkcZu MkbZvkWDlkbM  (D)  CO2 

25. fuEufyf[kr esa ls fdldks okfgrey mipkj ds 

fy, iz;ksx djrs gSa \ 

 
25. Which of the following is used in sewage 

treatment ? 

(A) uhy&gfjr ‘kSoky  (A) B. G. A. 

(B) dod  (B)  Fungi 

(C) lHkh ikS/ks  (C)  All plants 

(D) ,ddks’kh; gfjr ‘kSoky  (D)  Single-cell green algae 

26. jklk;fud fof/k dk iz;ksx 
---------------------------

 dks 

lq/kkjus esa djrs gSaA 

 
26. Chemical method is used for reclamation  

of .................. . 

(A) yo.kh; e`nk  (A) Saline soil 

(B) {kkjh; e`nk  (B)  Alkaline soil 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

27. Hkkjrh; e`nk foKku laLFkku LFkkfir gS % 
 

27. Indian Institute of Soil Science is 

established in : 

(A) tks/kiqj esa  (A) Jodhpur 

(B) ukxiqj eas  (B)  Nagpur 

(C) djuky esa  (C)  Karnal 

(D) Hkksiky eas  (D)  Bhopal 
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28. yo.kh;&{kkjh; e`nk esa gjh [kkn ds fy, lcls 

mi;qDr Qly gS % 

 
28. Most suitable crop of green manuring for 

salt affected soil is : 

(A) cjlhe  (A) Berseem 

(B) yksfc;k  (B)  Lobiya 

(C) <Sapk  (C)  Dhaincha 

(D) lugsEi  (D)  Sunhemp 

29. vEy o”kkZ dk eq[; dkj.k gS % 
 

29. Main cause of acid rain is : 

(A) CO2 rFkk O2  (A) CO2 and O2 

(B)  CO2 rFkk H2O  (B)  CO2 and H2O 

(C)  SO2 rFkk NO2  (C)  SO2 and NO2 

(D)  CO rFkk CO2  (D)  CO and CO2 

30. dsUnzh; e`nk yo.krk vuqla/kku laLFkku fLFkr  

gS % 

 
30. Central Soil Salinity Research Institute 

(CSSIR) is situated in :  

(A) dkuiqj esa  (A) Kanpur 

(B) djuky eas  (B)  Karnal 

(C) ukxiqj eas  (C)  Nagpur 

(D) Hkksiky eas  (D)  Bhopal 

31. Hkkjrh; e`nk o ty laj{k.k laLFkku fLFkr gS % 
 

31. Indian Institute of Soil and Water 

Conservation is located at : 

(A) nsgjknwu esa  (A) Dehradun 

(B) djuky esa  (B)  Karnal 

(C) Hkksiky eas  (C)  Bhopal 

(D) ukxiqj esa  (D)  Nagpur 
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32. ‘Alkaline’ ‘kCn jfl;u ‘kCn 
---------------------------

 ls 

fy;k x;k gSA 

 
32. ‘Alkaline’ word is derived from Russian 

word ............... . 

(A) lksyksupd  (A) Solonchak 

(B) lksyksusV~t  (B)  Solonetz 

(C) lksye  (C)  Solum 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

33. e`nk vijnu ds fy, mŸkjnk;h gS % 
 

33. Factor responsible for soil erosion is : 

(A) ouksa dh dVkbZ  (A) Deforestation 

(B) vf/kd pjkbZ  (B)  Overgrazing 

(C) LFkkukUrfjr [ksrh  (C)  Shifting cultivation 

(D) mi;qZDRk lHkh  (D)  All of the above 

34. fuEufyf[kr esa ls dkSu&lk moZjd vEyh; e`nk 

dks lq/kkjus esa iz;ksx gksrk gS \ 

 
34. Which of the following fertilizers is used 

for reclamation of acidic soil ? 

(A) veksfu;e lYQsV  (A) Ammonium sulphate 

(B) ;wfj;k  (B)  Urea 

(C) csfld Lysx  (C)  Basic slag 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

35. yo.kh;&{kkjh; e`nkvksa dk vf/kd {ks=Qy gS % 
 

35. Largest salt affected soil area is : 

(A) mŸkj izns’k  (A) U. P. 

(B) e/; izns’k  (B)  M. P. 

(C) iatkc  (C)  Punjab 

(D) xqtjkr  (D)  Gujarat 
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36. og izfØ;k ftlls e`nk esa ?kqyu’khy yo.k dk 

lap;u gksrk gS] dgykrh gS % 

 
36. The process of accumulation of soluble 

salts in the soil is called : 

(A) {kkjh;dj.k  (A) Alkalinization 

(B) ik’ohZdj.k  (B)  Laterization 

(C) yo.khdj.k  (C)  Salinization 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

37. fuEufyf[kr esa ls dkSu vEyh; e`nk dks lq/kkjus 

esa iz;ksx ugha gskrk gS \ 

 
37. Which of the following is not used for 

reclamation of acidic soil ? 

(A) CaSO4.2H2O  (A) CaSO4.2H2O 

(B)  CaCO3  (B)  CaCO3 

(C)  CaO  (C)  CaO 

(D)  Ca(OH)2  (D)  Ca(OH)2 

38. ‘ksYVjcsYV dk iz;ksx 
----------------------------

 dks jksdus ds 

fy, djrs gSaA 

 
38. Shelterbelts are used for control  

of ................. . 

(A) voukfydk vijnu  (A) Gully erosion 

(B) ty vijnu  (B)  Water erosion 

(C) yo.khdj.k  (C)  Salinization 

(D) ok;q vijnu  (D)  Wind erosion 
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39. fo’o e`nk fnol euk;k tkrk gS % 
 

39. World Soil Day is celebrated on : 

(A) 5 uoEcj dks  (A) 5th November 

(B) 5 fnlEcj dks  (B)  5th December 

(C) 5 twu dks  (C)  5th June 

(D) 10 tqykbZ dks  (D)  10th July 

40. mPp vEyh; izfrjks/kh Qly gS % 
 

40. Highly acid tolerant crop is : 

(A) dikl  (A) Cotton 

(B) xktj  (B)  Carrot 

(C) ljlksa  (C)  Mustard 

(D) pk;  (D)  Tea 

41. vEyh; e`nk dk eq[; Dys [kfut gS % 
 

41. Dominant clay mineral of acidic soil is : 

(A) ekWUVeksfjyksukbV  (A) Montmorillonite 

(B) DyksjkbV  (B)  Chlorite 

(C) oehZdqykbV  (C)  Vermiculite 

(D) dsvksfyukbV  (D)  Kaolinite 

42. tc e`nk ds cuus dh rqyuk esa e`nk vijnu 

lkekU; xfr ls vf/kd gksrk gS] rks og 

dgykrk gS % 

 
42. The removal of soil taking place at more 

faster rate than that formation is  

called : 

(A) izkd`frd vijnu  (A) Natural erosion 

(B) Rofjr vijnu  (B)  Accelerated erosion 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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43. ftIle esa ik;k tkrk gS % 
 

43. Gypsum contains : 

(A) 20% Ca, 16% S  (A) 20% Ca, 16% S 

(B)  28% Ca, 20% S  (B)  28% Ca, 20% S 

(C)  20% Ca, 22% S  (C)  20% Ca, 22% S 

(D)  23% Ca, 18.6% S  (D)  23% Ca, 18.6% S 

44. yo.kh; e`nk esa ik;s tkus okys yo.kksa dk lewg 

gS % 

 
44. Group of salts found in saline soils is : 

(A) NaCl + Na2SO4  (A) NaCl + Na2SO4 

(B)  Na2CO3 + Na2SO4  (B)  Na2CO3 + Na2SO4 

(C)  Na2CO3 + NaHCO3  (C)  Na2CO3 + NaHCO3 

(D)  NaCl + Na2CO3  (D)  NaCl + Na2CO3 

45. lkekU; e`nk dh fo|qr pkydrk ¼bZ- lh-½ gS % 
 

45. Electrical conductivity (EC) of normal 

soil is : 

(A) > 4.0  (A) > 4.0 

(B)  > 3.0  (B)  > 3.0 

(C)  < 2.0  (C)  < 2.0 

(D)  < 1.0  (D)  < 1.0 

46. ,l- ih- ,y- lksjsUlu us [kkstk Fkk % 
 

46. S. P. L. Sorenson discovered : 

(A) bZ- lh-  (A) EC 

(B) lh- bZ- lh-  (B)  CEC 

(C) ih&,p-  (C)  pH 

(D) vkj- ,l- lh-  (D)  RSC 
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47. ih&,p- ,pa ih&vks- ,p- dk ;ksx lnSo  

gksrk gS % 

 
47. Sum of pH and pOH is always : 

(A) 10  (A) 10 

(B)  14  (B)  14 

(C)  8  (C)  8 

(D)  12  (D)  12 

48. fo|qr pkydrk dh lgh bdkbZ gS % 
 

48. Correct  unit of electrical conductivity 

(EC) is : 

(A) dS m
–1 

 (A) dS m
–1 

(B)  DS m
–1 

 (B)  DS m
–1 

(C)  DS M
–1

  (C)  DS M
–1

 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

49. Hkkjr esa ok;q {kj.k ls izHkkfor dqy {ks= gS 

yxHkx % 

 
49. Total area affected by wind erosion in 

India is about : 

(A) 50.0 Mha  (A) 50.0 Mha 

(B)  13.5 Mha  (B)  13.5 Mha 

(C)  18.0 Mha  (C)  18.0 Mha 

(D)  49.0 Mha  (D)  49.0 Mha 
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50. Hkkjr esa yo.k ,oa {kkjh; e`nk dk {ks=Qy  

gS % 

 
50. Total area of salt affected soils in  

India is : 

(A) 49.0 Mha  (A) 49.0 Mha 

(B)  6.74 Mha  (B)  6.74 Mha 

(C)  20.0 Mha  (C)  20.0 Mha 

(D)  15.0 Mha  (D)  15.0 Mha 

51. ih&,p- 4-0 ls de okyh e`nk dgykrh gS % 
 

51. Soil having pH < 4.0 is called : 

(A) vEyh; e`nk;sa  (A) Acidic soils 

(B) ySVjkbV e`nk;sa  (B)  Laterite soils 

(C) {kkjh; e`nk;sa  (C)  Alkaline soils 

(D) vEyh; lYQsV e`nk;sa  (D)  Acid sulphate soils 

52. yo.kh; ,oa {kkjh; e`nk;sa eq[;r% ik;h tkrh  

gSa % 

 
52. Salt affected soils are generally found  

in : 

(A) ‘kq”d ,oa v)Z’kq”d tyok;q esa  (A) Arid and semiarid climate 

(B) ue&tyok;q eas  (B)  Humid climate 

(C) le’khrks”.k tyok;q eas  (C)  Temperate climate 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

53. fofue; lksfM;e izfr’kr (ESP) dh x.kuk dh 

tkrh gS % 

 
53. Exchangeable sodium percentage (ESP) 

is calculated by : 

(A) 
Exchangeable Na

100
CEC

  
 

(A) 
Exchangeable Na

100
CEC

  

(B)  
Na

Ca + Mg/2
  

 
(B)  

Na

Ca + Mg/2
  

(C)  2
3 3CO HCO Ca Mg    (C)  2

3 3CO HCO Ca Mg   

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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54. yo.kh; e`nk;sa tkuh tkrh gaS % 
 

54. Saline soils are known as : 

(A) dkyh {kkjh;  (A) Black alkali 

(B) lQsn {kkjh;  (B)  White alkali 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) e`nk vEyh;rk  (D)  Soil acidity 

55. og e`nk ftldk ih&,p- 8-5&10-0] fofue; 

lksfM;e izfr’kr 15 ls vf/kd rFkk fo|qr 

pkydrk 4-0 dSm
–1
 ls de gksrh gS] dgykrh 

gS % 

 
55. Soil having pH > 8.5-10.0, E. S. P. > 15 

and EC < 4.0 dSm
–1

 is known as :  

(A) yo.kh;  (A) Saline 

(B) {kkjh;  (B)  Alkaline 

(C) pwusnkj  (C)  Calcarious 

(D) vEyh;  (D)  Acidic 

56. e`nk fuEuhdj.k ds fy, mŸkjnk;h gS % 
 

56. Factor responsible for land degradation : 

(A) e`nk vijnu  (A) Soil erosion 

(B) yo.kh;rk ,oa {kkjh;rk  (B)  Salinity and alkalinity 

(C) vEyh;rk  (C)  Acidity 

(D) mi;qZDr lHkh  (D)  All of the above 

57. e`nk Hkkj dk ,d LFkku ls nwljs LFkku ij 

dVdj tkuk dgykrk gS % 

 
57. Detachment and transportation of soil 

mass from one place to another place is 

called as : 

(A) e`nk vijnu  (A) Soil erosion 

(B) e`nk laLrj  (B)  Soil horizons 

(C) e`nk iznw”k.k  (C)  Soil pollution 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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58. ikbjkbV~l dk mRiknu vf/kd gksrk gS % 
 

58. Production of pyrites is more in : 

(A) jktLFkku esa  (A) Rajasthan 

(B) egkjk”Vª eas  (B)  Maharashtra 

(C) fcgkj eas  (C)  Bihar 

(D) mŸkj izns’k esa  (D)  U. P. 

59. og vEyh;rk tks e`nk dksyk;M~l ij H
+
 vkSj 

Al
3+
 vk;u ds vf/k’kks”k.k }kjk mRiUu gksrh gS] 

mls dgrs gSa % 

 
59. Acidity developed due to adsorbed H

+
 

and Al
3+

 ions on the soil colloids is 

called : 

(A) lfØ; vEyh;rk  (A) Active acidity 

(B) fofue; vEyh;rk  (B)  Exchangeable acidity 

(C) vof’k”V vEyh;rk  (C)  Residual acidity 

(D) mi;qZDr lHkh  (D)  All of the above 

60. ftl e`nk dk ih&,p- 7 ls 8-5 ds chp gksrk 

gS] og dgykrh gS % 

 
60. Soil having pH between 7 to 8.5 is  

called : 

(A) yo.kh; e`nk  (A) Saline soil 

(B) vEyh; e`nk  (B)  Acidic soil 

(C) pwuk;qDr e`nk  (C)  Calcareous soil 

(D) lksfMd e`nk  (D)  Sodic soil 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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